LEBANESE AMERICAN UNIVERSITY
Division of Computer Science and Mathematics

Calculus I11
Exam 11
Fall 2008 (December 11, 2008)
Name: K E M‘/ 1D;

Circle the name of vour instructor: Dr. Habre Dr. Hamdan:
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1. (8%) Examine convergence of the series Z(_—Tgl— and determine its sum.
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2. (8%) Consider the series: Z-—E}I—ﬁ

(a) Find the third and fourth partial sums: s3 and s4.
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(b) Find the nth partlal sum sn, and then deduce the sum of the series
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3. (24%) Determine the convergence or divergence of the following series:
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4. (24%) Determine whether the following series converge absolutely, conditionally, or diverge:
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5. (9%) Find the values of z for which the power series 3" 7%1-; converges: Explain.

n=1
AT R W R, [ RN L\
nat A B7 Q= e ;DB xr Ao @13 3

C)<1 =) - 3<%’

6. (27%) Using Maclaurin series, answer the following questions:
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(b) Represent the function f(z) = i

as a power series
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(c) Write the integral { e-+"d= as a power series.
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